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λ /nm
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logRo = −0,35[uλ−u420]2

logBo = −0,35[uλ−u470]2

logGo = −0,35[uλ−u520]2

logYo = −0,35[uλ−u570]2

uλ=(λ − 550) / 50
logRo = −0,35[uλ−u620]2

logBo = −0,35[uλ−u670]2

Adaptation: λBL=520
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logRo = −0,35[uλ−u620]2
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uλ=(λ − 550) / 50
logRo = −0,35[uλ−u620]2
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uλ=(λ − 550) / 50
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λ /nm
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logSo = −0,35[uλ−u445]2

logCo = −0,35[uλ−u495]2

logMo = −0,35[uλ−u545]2

logOo = −0,35[uλ−u595]2

uλ=(λ − 550) / 50
logSn = −0,35[uλ−u645]2

logCn = −0,35[uλ−u695]2
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TUB-test chart EE87; Relative elementary colour vision
Definition of log[sensitivities], model LMS-R17; linear ordinate; threshold ta=0,00

http://farbe.li.tu-berlin.de/EE87/EE87L0NA.TXT /.PS; only vector graphic VG; start output
see separate images of this page: http://farbe.li.tu-berlin.de/EE87/EE87.HTM
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ilar files of the w
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